run_13096005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13096005 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13096005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13096005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Thu Apr 502:28:18 2012
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run_13096005 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13096005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13096005 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB

Thu Apr 502:28:22 2012
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run_13096005 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Thu Apr 5 02:30:45 2012
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run_13096005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13096005 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB
Thu Apr 502:28:27 2012
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run_13096005 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Thu Apr 5 02:30:47 2012
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run_13096005 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13096005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Thu Apr 502:28:31 2012
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run_13096005 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13096005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
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run_13096005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13096005 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
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run_13096005 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 502:28:37 2012
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run_13096005 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 502:30:49 2012
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run_13096005 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Thu Apr 502:31:23 2012
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run_13096005 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 502:28:42 2012
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run_13096005 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Thu Apr 502:30:50 2012
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run_13096005 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Thu Apr 5 02:31:24 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

180

160

140

120

100

Fit !H'I'H__UI'|'I1IIH'I]1I

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

200 f=

180
160

140 |5

120
100
80
60
40
20
0

°'I1I[I'I1|H'

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

220
200 =

=
180 f=

160

140 B

120

100 |5

80
60

40

20

0

APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

nl I

O-I-l-l-l'l‘l CEEEEERENII33333

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

180 =

160

140 [=

120

100

80

60

40

20

0

i
120
APV channel




run_13096005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Thu Apr 502:28:46 2012
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run_13096005 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Thu Apr 502:30:52 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13096005 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Thu Apr 5 02:31:25 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Thu Apr 5 02:28:51 2012
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run_13096005 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Thu Apr 502:30:53 2012
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run_13096005 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Thu Apr 502:31:27 2012
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run_13096005 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Thu Apr 5 02:28:55 2012
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run_13096005 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Thu Apr 5 02:30:54 2012
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run_13096005 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Thu Apr 502:31:28 2012
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run_13096005 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Thu Apr 5 02:28:57 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13096005 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13096005 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13096005 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13096005 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Thu Apr 502:29:12 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Thu Apr 5 02:29:14 2012
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run_13096005 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD

Thu Apr 502:31:04 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 502:31:37 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Thu Apr 5 02:29:44 2012
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run_13096005 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 502:31:05 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Apr 502:31:38 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 502:29:48 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 502:31:39 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Thu Apr 502:29:50 2012
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run_13096005 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 502:31:06 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Thu Apr 502:31:39 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Thu Apr 5 02:29:55 2012
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run_13096005 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD
Thu Apr 5 02:31:07 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Thu Apr 5 02:31:40 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Thu Apr 502:29:59 2012
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run_13096005 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD

Thu Apr 502:31:09 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13096005 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Thu Apr 502:31:41 2012
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run_13096005 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC

Thu Apr 502:30:01 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Thu Apr 502:31:42 2012
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run_13096005 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Thu Apr 502:31:43 2012
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run_13096005 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13096005 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13096005 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Thu Apr 502:31:13 2012
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